M Howme weovk # 3
S&c’/ﬁm« 14,5
O Fm)s ﬂ\c ?W\&quj\/lé e%uafh\wts ‘:QJV ﬂ/LL jl'ru "ﬂ\'\du?l\ '"fﬂ:\"! P(/J %‘/)

W CQ[/OI\
/\\M, X ?MJM"'D ’ﬂ/w. vectov QP < ("IJ 2- 0 "I-, \>

= <2) 2,-2%  Alse P s passes ‘ﬂw-»ala Q=<1,0,1>, Thus
s vechy equafion s Fa)= {1,010+ 4 2,2 -2) = <|+2:5 24 1-24)

¢ . X =~ +2%
C‘,unserbuerfﬂy t’,'S PM&W\EJ‘VM 7ZDVM Is {Q = 24 —~ o0 (XA €00,
2= I~-2X

i

@ Fiad The egu«"“m of Ak plame ‘r"‘/\ovgl\ (2‘/5) (l,:,?)( 1 6,8)
“ \—-\r—‘ L._ﬁr\J

¥o\loww\j vec:\-ovs L own ’H/\\j P\.QM

- G
(\2643-5> (3}33) / /
Nocwull s PRXPR = \ z\\ —
M RS >

Et‘hvufﬁ‘d\r\ of ’P\M\a -X -33 + 2 = 2(—|)+q(-3)+5.|
-X —3Y+E = -9
EREEC

X=24
. Fiud A dotamce Sowe 502, 1, -1) o The M§2-|+zt
2%
Fov i"‘D we See P(O L O) i on The Lding,
Alss ‘Hf\e Boow has dive chowm <2, 2, 20 but we can vse VST
Now 5 = (2, 01y

- i e X =N\
:\ﬁ%\Smg = |P511vlsm9 _IPSx"‘\H }S




@ F'MJ 'ﬂl]e a\tg}?«mce '((OW\ ‘?0\(1\'\' P(Z, 2,3) o The
?lome- %=<z)'17->

A PO\((\‘\' ow The ?(M\Q 'S Q(ZJOJO)) ‘\\\P{Z,%B)
o 'ﬂ‘\c wovrwied +v &P[W s /

Pelg,25, s GP23) S el

2x+3,~z%=5’.

AN
They distance = A = IQP| cos &
<C7,2, 3>’ <Z) ‘)Z}

1Gp | [A|cose  &GpP-T _

% | SR ?\rzzﬂ_lfﬂ,zz
3 _1_@ ~ l
;ﬁ — 3 uW\¥j
x=2

g = 3+2Xk

@ Fiad the Pou(nf‘ MSL\M_ the ,ﬁ;‘ne %2—:-2!2&
moeks The plame. 6% +3y -2 = —12.
So\uhw\: _rl/xis ?0~('\+ s a\viQn Lj The Vuﬁwe. o-p‘f:

Sor whidh 6.2 +3 (3+22) ~4(2-2#) = -2
|2 +9+64£ t§+85L = =1L -

HE ==Y
T‘r\us 'ﬂM. ‘?O\TJ\“’ of \/\-.-Q/\SEQ&W\ vt "'l__‘_
= 2=

= Y = Y1 - o M 20
3_3+2t ’3+Z(:"~7)"3 o i
Zz-2-2% =-2-2(4) =244 _ 27
5 = ==
7

Nl

Answeg  Porab ¢ ( _20 27 (
i @ : (2") '73 )4-




